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[bookmark: topic_d3deea98-4249-4c36-9d85-68314239de]阅读2019年中考阅读D篇，选择正确的答案。
【答案】1. B    2. C    3. A    4. D
【解析】随着互联网越来越强大，我们很容易就可以获得所需要的知识，我们是不是就不需要再记忆很多东西了呢？作者对此是持否定态度的，并仔细分析不靠自己的记忆，而去依赖机器会导致很多问题的发生，提醒我们依赖智能机器记忆是有风险的。
【1题详解】
细节理解题。根据短文第三段For one, human beings have biases（偏见），and smart machines are likely to increase our biases. Many people believe smart machines are necessarily correct and objective, but machines are trained through a repeated testing and scoring process．In the process, human beings still decide on the correct answers可知，智能机器是通过重复测试和评分过程的训练，在这个过程中，人类仍然决定着正确的答案。故B选项符合文意。
【2题详解】
细节理解题。根据短文第四段中But today, the Internet gives us the information we need quickly. This can lead to the mistaken belief — the knowledge we found was part of what we knew all along.可知，互联网给我们提供了方便，可以让我们快速得到所需要的信息，但这可能会导致错误的信念，我们发现的知识是我们一直都知道的一部分。由此可知应选C。
【3题详解】
词义猜测题。根据上下文语境But dependency on a network suggests possibilities of being harmed easily. The collapse of any of the networks of relations our well-being（健康）depends upon, such as food and energy, would produce terrible results.可知，对网络的依赖很容易受到伤害，后面举例说明网络的…会导致可怕的后果。结合选项：A是“突然的失败”；B是“基本规则”；C是“令人失望的开始”；D是“逐渐的发展”。根据文意可知应选A。
【4题详解】
推理判断题。根据短文第二段的最后It seems that we no longer need to remember most things. Does it matter? 以及第三段Researchers have recognized several problems that may happen.、第四段Another problem relates to the ease of accessing information、第五段But dependency on a network suggests possibilities of being harmed easily等可知，短文作者先提出问题“我们还需要再记忆很多东西吗？”，然后分析了这个问题，发现如果不靠自己的记忆，而去依赖机器会导致很多问题的发生，由此可知推知作者写这篇文章的目的是提醒我们依赖机器记忆是有风险的。故应选D。
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